

1.  $\int \frac{x+7}{\sqrt{36-x^2}} dx = \int \frac{x}{\sqrt{36-x^2}} dx + 7 \int \frac{dx}{\sqrt{36-x^2}} = -\frac{1}{2} \int \frac{du}{\sqrt{u}} + \frac{7}{6} \int \frac{dx}{\sqrt{1-(\frac{x}{6})^2}}$

Sub,  $u = 36-x^2$   
 $du = -2x dx$   
 $-\frac{1}{2} du = x dx$

Sub,  $u = \frac{x}{6}$   
 $du = \frac{1}{6} dx$

2.  $\int 3^x e^{8x} dx$   
 $= \int e^{x \ln 3} e^{8x} dx$   
 $= \int e^{(8+\ln 3)x} dx = \frac{e^{(8+\ln 3)x}}{8+\ln 3} + C$

$= -\frac{1}{2} \cdot 2u^{1/2} + \frac{7}{6} \int \frac{6 du}{\sqrt{1-u^2}}$   
 $= -\sqrt{36-x^2} + 7 \sin^{-1}(u) + C$   
 $= -\sqrt{36-x^2} + 7 \sin^{-1}(\frac{x}{6}) + C$

3.  $\int \frac{dx}{5+7x^2}$   
 $= \frac{1}{5} \int \frac{dx}{1+(\frac{x\sqrt{7}}{\sqrt{5}})^2}$

$u = x\sqrt{\frac{7}{5}}$   
 $du = dx\sqrt{\frac{7}{5}}$   
 $\sqrt{\frac{5}{7}} du = dx$

$\frac{1}{5} \int \frac{\sqrt{\frac{5}{7}} du}{1+u^2} = \frac{1}{\sqrt{35}} \tan^{-1}(x\sqrt{\frac{7}{5}}) + C$

4.  $\int \frac{\sin^{-1}(e^x)}{\sqrt{1-e^{2x}}} e^x dx$

$u = \sin^{-1}(e^x)$   
 $du = \frac{1}{\sqrt{1-e^{2x}}} e^x dx$

$= \int u du = \frac{u^2}{2} + C = \frac{1}{2} (\sin^{-1}(e^x))^2 + C$

5.  $\int (3x^2+1)\sqrt{1-2x} dx = \int (3(\frac{1-u}{2})^2+1)\sqrt{u} (-\frac{1}{2} du) = -\frac{1}{2} \int (\frac{3}{4}(1-2u+u^2)+1)\sqrt{u} du$

$u = 1-2x, du = -2dx$   
 $2x = 1-u, -\frac{1}{2} du = dx$   
 $x = \frac{1-u}{2}$

$= -\frac{1}{2} \int (\frac{3}{4}u^{3/2} - \frac{3}{2}u^{5/2} + \frac{3}{4}u^{7/2} + u^{1/2}) du = -\frac{1}{2} (\frac{3}{24} \cdot \frac{2}{3} u^{3/2} - \frac{3}{2} \cdot \frac{2}{5} u^{5/2} + \frac{3}{4} \cdot \frac{2}{7} u^{7/2} + \frac{2}{2} u^{1/2}) + C$   
 $= \frac{1}{4} (1-2x)^{3/2} + \frac{3}{10} (1-2x)^{5/2} - \frac{3}{28} (1-2x)^{7/2} + \frac{3}{24} (1-2x)^{1/2} + C$

6. Suppose  $b > 1$ . Find all numbers  $a < 1$ , in terms of  $b$ , such that  $\int_a^b \frac{\ln(x)}{x} dx = 0$ .

$\int_a^b \frac{\ln(x)}{x} dx = \int_{\ln(a)}^{\ln(b)} u du = \frac{u^2}{2} \Big|_{\ln(a)}^{\ln(b)} = \frac{1}{2} ((\ln(b))^2 - (\ln(a))^2) = 0$

$u = \ln(x)$   
 $du = \frac{1}{x} dx$

$x$	$u$
$a$	$\ln(a)$
$b$	$\ln(b)$

$(\ln(b))^2 = (\ln(a))^2$

$\ln(b) = \pm \ln(a)$

and  $\ln(b) = \ln(a) \Rightarrow a=b$ , extraneous

$\ln(b) = -\ln(a) = \ln(a^{-1}) \Rightarrow a = b^{-1}$